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NO. 11+10 230.0 4.50

NO. 12 240.0 4.20 4.35 10. 00 43.5

NO. 13 260.0 4.30 4.25 20. 00 85.0

NO. 14 280.0 4.40 4.35 20. 00 87.0

NO. 15 300.0 4.60 4.50 20. 00 90.0

NO. 16 320.0 6.70 5.65 20. 00 113.0

NO. 17 340.0 7.20 6.95 20. 00 139.0

o 2 557.5
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NO. 0 0.0 4. 50 0. 00

NO. 1 20. 0 4. 50 4. 50 20. 00 90. 0
NO. 2 40.0 4,10 4. 30 20. 00 86. 0
NO. 3 60. 0 4,10 4.10 20. 00 82. 0
NO. 4 80. 0 4,15 4,13 20. 00 82. 6
NO. 5 100. 0 4. 45 4. 30 20. 00 86. 0
NO. 6 120. 0 4. 30 4. 38 20. 00 87.6
NO. 7 140. 0 4,10 4. 20 20. 00 84. 0
NO. 8 160. 0 3.70 3.90 20. 00 78.0
NO. 9 180. 0 7.30 5. 50 20. 00 110. 0
NO. 10 200. 0 7.60 7.45 20. 00 149. 0
NO. 11 220. 0 4,70 6.15 20. 00 123.0
NO. 11+10 230. 0 4. 50 4. 60 10. 00 46. 0
& i 1104. 2




